
in tnx

( 'w
eek' ,date,5, 'beginning' )

= 26 May 2019 

intnx

( 'month ' ,date,2, 'middle ' )

= 16 July  2019

in
tn

x

( 'y
ear ' ,

date,6
, 's

ame' )

= 2
2 A

pr  2
019

intnx

( 'qtr ' ,date,4, 'end' )

= 30 Jun 2019

Show me examples

d a t e  =  
' 2 2 ap r 2 0 1 3 'd

M i dd l e

E n d

S a m e

B e g i n n i n g
The returned da te is  al igned to 
the beginning of  the interval  
(defaul t )

The returned da te is  
the average of  the 
beginning and 
ending al ignment 
values

The returned da te is  
al igned to the end 
of  the interval

The returned 
da te has the 
same al ignment 
as the input  
da te

INTNX

I N C R E A S E  A  
DAT E / T I M E / DAT E T I M E  B Y  A  

G I V E N  T I M E  
I N T E RVA L

What  are  my opt ions?

Wha t  is  i t?

How do i  wr i te  i t?
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ALIGNMENT
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NUMBER

INTERVAL 
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